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	Answer the following.
	
	Answer the following.

	1. A CD is usually 4.75 inches across, with a half-inch hole in the center. Ignore the hole and estimate the area of the label on the top surface of the CD.
	
	1. The cheerleaders are making buttons for homecoming. They are printing paper circles with a diameter of 3 inches that will be folded over a metal backing and covered with clear plastic. If a ½ inch border is folded over, how much of the picture will show on the finished button?

	2. Jennifer measured the amount of water a drinking straw can hold to be 5 cubic cm (cc). The straw is 19.5 cm long. What is the diameter of the straw?
	
	2. Mrs. Davis wants to seat her students in a circle for a class demonstration. Her classroom has room for a circle with a 6-foot radius. If each student needs at least 1.5 feet of space, will there be room for all 25 students to be seated comfortably?

	3. Erin’s bicycle wheel has a radius of 8 inches. How far does her bike travel in one revolution?
	
	3. Matthew’s wading pool is 6-feet across and 18 inches high. How much water does it take to fill the pool a foot deep?



	Part I. Answer the following.
	

	1. Which deal gives you more pizza overall: two 6-inch pizzas or one 10-inch pizza?
	2. Frosting a layer cake involves frosting the top, a middle layer and the outside. A typical cake has a 9-inch diameter and is 4 inches high. Calculate the surface area of the cake that is frosted.

	3. How much frosting does it take to frost 24 cupcakes? Assume a cupcake has a 1 inch radius.
	4. How much plastic wrap does it take to package a roll of paper towels? Measure a roll of paper towels or use the following: the height is about 11 inches, with a radius of 3 inches.

	5. Andy wants to order a cookie cake for a birthday party. He plans to split it between 12 people, with each person getting a piece that is at least 4 square inches. What is the radius of the smallest size cookie cake he should get?
	6. Kathy is repotting a plant and needs to find out how much dirt it will take to fill the pot. If the pot has a 5 inch radius and is 7 inches high, what is the volume of the pot?

	7. Once trees grow to a certain height, the trunks quit growing taller and only grow thicker. The forest rangers want to calculate the diameter of the cross-section of some trees in order to estimate how much they grew in the past year. They measured the circumference of the trees, and one of them was 3 meters. Calculate the diameter of the tree.
	8. For the tree described in problem 7, find the area of the cross-section of the tree.


Part II. Write two real-world problems involving pi and solve them.

	9.
	10.
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Guided Practice

1. 17.7 sq. in.
2. 0.572 cm.
3. 50.27 in.
Review Practice

1. 4.9 sq. in. instead of 7.1 sq. in.
2. Yes.
3. 48,858 sq. in. 
Independent Practice

1. The Ten Inch Pizza
2. approx 240 sq. in. (2π2 + 2πrh)

3. 75.4 sq. in. of frosting

4. 264 sq. in.
5. at least 4 inches (≈ 3.9 in.)
6. 550 sq. in.

7. 0.95 m.
8. 2.86 sq. m.
9. Student determined questions and answers.
10. Student determined questions and answers.
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